it

Vocabulary

@ Review

Write T for true or ¥ for false,

1. Toindicate the absolute value of —8, you write | —8].

2, The absolute value of —8 is —8, since —8 is 8 units to the left of 0 on the
number line.

3. The absolute value of —8 is 8, slnce —8 is 8 units away from 0 on the
" number line.

i

@ Vocabulary Builder

@ UseYour Vocabulary

Write an expression for each word phrase.

7. umore than 7

According to the definition of absolute valte, if [r| = 3, then r = 3 orr = —3.
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Solving cug%\bsclute Value Equation

Got H? Whatare the solutions of [n] — 5 = —27 Graph and check the solutions,
10, Complete the equation to solve for n. 11. Graph the solutions. o .

|7

n

To solve an equation in the form | A| = b, where A represents a variable expression
and b > 0,solve A = band A = —b. o [ -
’ In #7172 h

Complete. g \y
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13, Tosolve | b} = 3,s0lve b =

i
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: 14. Tosolve|x-5|:6,solvex*5:‘@.fandx—5=
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E 15. Tosolve |h + 7| = 2h,solveh + 7 = :
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L 8 Gl d Solving an Absolute Value Equation
g \Y SoS .
P2 Got I#? You are skating with a friend, The friend’s distance d from you (in feet)
& 8 ¥
=z after £secondsisgiven by d = |80 — 5¢]. )
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S a. 'I‘lw/t‘wu' a measure of idis tan
l S tbf”'/l‘o find the times she is 60 ft from you, solve the equation _
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c. Solve the equation from 17, b. /»

.

. :,5; secondsand ___seconds. R
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Solving an Absolute Value Equation Wii’l‘lﬁ\!o Solution §

19. Toisolate the absolute value expression, you add 5 to ke'u:h side of the equation, ... 7 ]g,, 5‘%
Circle the simplified value of the right side.

20. Underline ihe correct word to complete the sentence.

@ has o solution

. Let A represent a variable expression and let b > 0.

Solving an Abselute Value Inequality Invelving =

Got IF? What are the solutions of | 2x + 4| = 5? Graph the solutions. X <~ 2—
21. Wiitea cmﬂ)ound inequality to solve the absolute value inequality.
2+ 4 Sorax+4 205

22. Solve the mequahnes

Chapter 3

t Abs. Vedve

The absolute value of an expiessmn cannot bef egatwj /’ posmve 50 the 1nequahty {’ Vi fv (JT%‘
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oz. The allowable difference from the ideal?veight is at indst
bsolute value inequality to find the range of alloyvs

Define Let w = theactua[wm w

Write'

oz, inclusive,

Lesson Check ¢ Do you UNDERSTAND?

Reasoning How many solutions do you expect to get when you solve an absolute
value equation? Explain,

- 28. Write how many solutions each absolute value equation has.
x| =0

Math Success

- Check off the vocabulary words that you understand.

[} absolute value [1 equation inequality

Rate how well you can solve absolute value equations and inequalities.
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